Name

Practice
7-4
Dividing Whole Numbers
by Fractions

Simplify.

11157 2.6+ 3.3+ 12
4.7+% 5.4+ 6. 11 +2
712+ 2 8. 11+ 3 0. 12 + 33
10.7 -2 M. 11+ % _123+2
13.5 =25 14, 7+‘2% | f-sg_gu%%
16.8 = 17 17.8 + 1% 18. 10 = 1%
19.7 + 1% 20. 4 = 47 21,3+ 4%
;22-10+132~-_ 23. 6+ % 24. 7+ %
25.3 + 23 26. 11 + 1% o i0- 18
28.?+2% ' 29, 8+1% 30. 84~‘1%
3112 + 1% s2.8+3 33, 5 + 22
34.8+ & 3. 8 + 2% 3.5+ 2
37-7%2% 38-3+33" 39.11+2%
40-3+2% ‘ 41.5+1%_ 42_4+%

43. Science A baby walrus is 4 feet long. This is £ 2 of the length of
an adult male. What is the length of an adult male walrus?
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44. Measurement One yard (36 inches) is equal to £ ofarod.
“How many inches are in.a rod?




@
)
o
8
=2
=
S
L]
5
°
<
[
c
g
E
%
e
5
i
£
[=]
&
@
@

Practice
| =5
Dividing Fractions by Fractions
“ Simplify.
1-?%+%— 2.1+ 1 3.3%+3)
4. 35 + 12 5.2+ 42 6. 43+ 3
1.2 6. 2% - 42 0.3 13
10.1§+17§~ | g1 12. 7+ £
6.4 + & 17. 15 + 12 .2
19.1 + 31 20. 21 + 3% 21, 45 + 1}
22, F + 3% 23.135+% 24. 2+ 1
25.5 + 2% 26. 15 + 25 27. 1+ 13
28+ 1  29.1%+1% 3013+ 1
31. 4% + 13 32, 5% + 2} 33. 13 + &
3. 13 + 12 . 0:2 i3s3
3.3+% 38, 13 + 35 _ 39, 1355.——%
‘ 40.%—+3~% - 41. 1l~:—1g 42. 1%+2%

43. Measurement A cake recipe calls for 2 3 of a cup of
butter. One tablespoon equals 75 of a cup. How many
tablespoons of butter are used to make the cake?

44. Geography One square mile equals 55 Of & township.
The area of Austin, Texas, is & townships. Find the
area in square miles.

85




Name
Practice
T
Mulliplying by a Whole Bumber
Bimplify.
al . 2
A By s 16]2. 2ax4E "y 3.4 %85 225
1 2 1
4 tox8d 383 5 128 x4 =05 5. 10X 2} 23
& X ————
7.s><'s1f 367 3.4%x2 g 5.3%xa 28%
2
1 werexsl 30 swsy P8 waiaxel 49
1 2
s x2 73 14. 4 x 92 38y 16,3 x 68 20
4 2
16 8 x 52 43 7. 10%4) 45 18 4 x 122 503
2. 2 1
18 x4 325 20, 11 x &7 7 o w0k xs 23
4 1 8
22 14 % 3t 445 2 2l x5 122 2.7 x75 52g
. . q 1
25 ot w2 21 28, 71 % 6 A5 7. 13x2] 325
1 4 B
28, 83 x 4 213 m.d%—x‘t 65 a0 122 x4 s07
4
st 4x o) 42 az 11 x 4 465 83 2 x a} 26%
B 2 4
a4, 12 x 24 3o 35, 4% 115 465 a5, 6} x 4 323
. . 3
a7.4 % 12} .. 50 o8, 103 x4 __ 43 a0 8% 12} 365
40, Health Complste the table for calories in a cartain brand of granola cereal.
Servings -27 - % 3 1 1% 2%
_| Ounces 1 1% 1": 2 2% ]
Calories 120 160 180 240 320 BOO

4%, Science The longest recorded jump by & kangaroo covered &
distance of 45 feel. This s 33 times the longest jump from &
standing posttien by a hurnan. Find the length of the longest
Jump frem a standing position by a human, i2ft

Use with pages 370-574, B

Narme Practice

- S 7-3
Multiplying by a Fraction

Findl et prodci.

1.5%3(% 2% g.—g—x%‘ % 3_:1;_,(% %

' _4.5}.x‘§ 4'18_ 5.%x% % s.%x-} '7%
hu}wx% 117 5 2x} 'Zﬂf 0. 5x3 %B%
wixd B aTIH Lw ®
13.§x% % 10 txg 525' 15 Ixk %
. 3xd 3 .l T% 18 dxd ?1”5“
19%:«1‘1—0 “11515 &2 IIE_g nZxlk %
2 ix§ 14 2. 8% % 2 ixL %
SESEEN SEPESTIL SN
a8 B omid W wdkah 4
3*1’.'%><1'% %55' a:-_%x;— % n%x% %‘;‘ \
‘oL x el 13%1 s lxl E1T a $x %&1{
‘37;:«71'3 3% m 2xl 7!% 2, £x b %

40, Sclence The total walght of all of the insetts in the
warld is about gﬁ of & bilficn fons, The total welght

of all humans Is about { of this amount. Find the Aoyt Gll'] billion tons

1otal welght of all humans.
41. A recipe for minestrone soup calls for 3;— cups of

vegetable stock, How much stook would you use to . 2_1
mike £ of the amoust of soup in the criginal recipe? 3

B2 Uss whh papes 375-378,

cups

Name
Praciice
Section 7A Review .
- Estimate each product or guetient,
~ D2
B2 == a2 =2 4. .02 =
1. af x 122 32 27geg 3 8. a5 x 108 310
1.4 =1§ 1yl = 4.8 =2
4 up+ a3 B.. sttfx1f =188 6 oeteal 4
Simplify.
1 16§ 5 44 al
T4k %4 -‘; aexal 28 8 iEx2p 1'3
' 2 1
1&4.}—Dxaiu;%x4__2____1zsx2% [

2. The table shows the ingrediants In a recipe for papaya lce cream
from Kathy Cooks Naturaliy. Complste the tahie 10 show how
. much of eseh ingrediam you would use 1o make 4 times or 6 times
the amount of the original recipe.

Ingredient Ripe 6mnge Leman | Whipping
papaya julce juloce cream | Honey

Griginat recipe] 1loups { foup | fhewp’ | 1joups | Joup
sumes |6 CUPS [2cups | § cup |6 cups |2 cups

stmes |9 cups (3 cups 1§ cups|9 cups |3 cups

14. Fancy tornatoes ane selfing for $1.85 per paund.

Gan yau: buy 22 pounds if you only have $4.007 No
15. Mre. Gonzales bought 31 pounds of candy for Halloween. She 12m
gave awey % of the candy. How much candy was left over? 4
16. Fine Arts Rodney Is making & mecramé belt that Is o be it
maters long. If 3 of the helt has been complsted, how many Em
meters of the balt have bean completed? 12

17. Some glarst dump trucks use tires with a diameter of
12.5 fout. Fiel e area of & whea! whh this ire, fLessor, -9 AbOUE 122.7 2

18, Rick had % of a cup of lamon juice, After making 2 pie, he

fiad § cup of leman juloe eft, How much lemon juce eidhe . 3 pyp
wse i the ple? flesson 6-31  * 8

Use with page 380, B3

Name Practice
AL )
Dividing Whole Rumbers
by Fractions
Simplify.
: 1
TR | NI S | PO S
1 ¥4
av+d 10]2_ PRE. 53 6 113 143
3 .
rozeg 30 a11+§i 8 12 + 3 3%
AR
1u.?m%% o izl 123+ & 73
1a.5+22 2z " 728 %% s +3 24
4
B+l B% 17.8+12 4y 1 10+ 1] 5%
, 5% , 1 5
o7+ B mnaeap 18 a4 7
1
2210+ 15 6% mesl 12 2.7+ % 313
2 3
25.3+28 K] = 11+ 1 B% zr 1o+ 18 57
13 ’ 1
8.7+ 75 1 2. 5-1) ] a0, 8+ 5 )
2 1
31.1z+1%__9____ 32-5‘-'%___1}3__33.5+2% 295
3 1
M.a‘i'% ] ss.a+2—;-' 3 8. 5+% 3
17 1
st7+2g 253 ma+] 9 a8, 11+ 28 b
z 1
a0.3+2% b a5+ 1% 4 a2 4 10
43, Sclence A baby walrus Is 4 fset fong. This Is%oﬂha langth of
an adutt male, Whet is the length of an edult male wairus? 104
44. Mensuremant One yard (38 Inches) Is aqual to & of & rod, .
How many inches are in a rod? ‘_1_9_B_EIL_

B4 ifse wilh pages 38265,

167




{irod = —furlung}

Possible answer: x X 40 = 12; 55 - furiong

16, Wite and solva an equaticn to find the number of pounds in & kilograms.
{1 Hilogram = 25 pounds)

Possibie answer: x + 215- =8 17% b

17. The road distance from Toleds, Ohia, to Detrok, Michigan, |s 4720 chalns,
One mile = BO chalns. Explain how you could use efther multiplication or
divislon to find the number of miles from Toiedo to Detroit.

Possible answer: 4720 X {n— = 4720 + 80 = 59 miles

18. Sclence The largest biris' egg ever measured was lald by an
ostrich In 1988 and had a mass of 2.32 kilogrems. A typical
albatross egy has about ope fourth of this mess, Find the
mass of an albatross epg. [Lesson 3-13 AbUUt 0.58 kg

18. Fine Arts Redin’s bronze sculpture of Jules Dalov is ED— Inches
tall, His marbls Hard of God is 15Z inches taller, Find ihe helght 355 in
of the Hand of God, A

Uise with page 288, 8T

18. 85g = _{LOAR kg
2t.75em= _073 m
24,183 m = _(L183 km

18. 42 kg= _42,000 ¢
o2 s2L= 6,200 mL
25 3t mm = [I_JBI m

Bimplify. [Lessens 7-£ to 7-5]

27.%+4% '2'21 m3+1§ 7 om0} J‘*2:1 80, 43+ 18 "ljn
23

3 £ 2
8.2+ 35y 15 32

Solve, [Lesson 7-6]

15
142 .

2,41
2Ex6_TH Az g

Name Name
Practice Practice
-5 76
Dividing Fractions by Fractions Solving Fractien Equations:
Simpify. Musdtiplication and Division
Solve.
4.1 55 2.1 13 4.4 1k '
g+ g 1A 2g+y Y3 ddp+3y A0 1 6,1 5_1 3.1
k] 2 ] Tax+by=y 2eyf=3 divey=y hardge=iy
4 512 250 sZ-43 7 6 ated L 21 7 15 52
1 10 n=_ %R f=__Hk f= 14 n= 5
1.2 15 4_,3 aE 5,3 EH )
5.2 1k s,1 it i,z % 3 1 z 2
e B L - 4 Z3*s B ne 3 PENLL TR SN
2 47 3
. feel AT 1, if -8 7 1.13+4_ g a.p+E=28 t0dn-2 Mirsti=a  1zpe2d-l
5 18 i 19 3 1
o2 B lesd 7 w12 1% b= 7 A= __ & - % n= Yo _
2 A1 333
wlsal i3 alead 28 omoaEsa] 2 18, or ey 1422 =38 16, =3 1 h+aten
4 3 4 1 5 1 1
mfsal 7 21l 3 2. bl 45 fm H._ z= % ve 4 n=_ b5
T 86 18 o Ry L sl -1
2 feoB 7 midanl W antend 56 Wvrg=g 18 Hg9 11(! . b 1u£ 2 12=13 1
2
1 3 - _ 1§ v - - 13
2&%7% 1 29%‘_1% 'l2 1%+% 8y v 1151 q 1;11'1 h 22[1! c 1 3
B 2 2w+ ig=0y 22 d+Po=20 Zoyig=1xy 24z 4=t
ooty 2 msl.al 2% sail.l 58 s " s =
9 ' 1 37 = i} de= 24 ve 1 z= Kl
a4, 1% . 1% i as. -g— :-% 3_15 a6, 1% +g zﬂl 2 3 7
5 3 2 25 t+2=2 26 b+1=15 2. gz =y 28, 14pm =4
1,4 e 1. a1 2 3,1 4z
A+ W I3y 7 &, 1E -y 5 2 3 6
175 7 PN ) 5V 3 o - 4 b= JL e _E = h
1.4 I3 1,08 i1
wy+od  BF angerf 5 stgezi 3T 25. The largest .S. standard postuge stamp ever lssued has
a width of 1—— inches, which was 2 of the halght of the stamp.
43. Measurement A cake recipe calis fur of a cup of Write end snl1ve an equaticn to ﬁnd the height of the stamp.
butier. One tablespoon equals ¢ of & BUP How many 10 tabi
. . _ . .
tablespoons of buttsr are used 1o make the cake? dhIespoNs Possible answer: _IX = 1ﬁl iﬁ in.
44, Geography Cne square mila equals of a township. .
The area of Austin, Texas, Is 65 1owns‘mps Find the 30. Candace said, "'m thinking of & fraction. I | divide it by 23, 15
area in sguare miles. 232 miz 1 get %." What fraction was Candace thinking of? .7
Use with peges 387-330. 85 BB Use with pages 262-505,
.
Name Name
Practice Practice
Section 7B Review Cumulative Review Chapters 17
Stmplify. Write the phrase as an expression, flesson 2-11}
3 17 oz 1 ¥
1.1%’—+1§J_32 z?:—a%ius_ 8 18 x 531 iF 4.8+2) 1H. 1 1. y divided by 7 7 2 mtimes 5 mx5
nd 15 1
S.E*X?z 25 & E_ 7. 2—;-"7- & 2% XS 2075 4, 15 less than & uv—15 4. ohe-third of k k] X k
8. Measurement One teaspoon R + Of & tablespoon. A bread recipe 5. d increased by 12 d-412 £, & deubled 20
calls for 2 tablespoons of yeast. Hnw meny teaspoens ks this? 6 IEASPOONS g 5
) . . *2 3
10. Measurement There are 1-%Ameﬂcsn tons In che Brifish 61 British t 7. halfol g T 8. p cubed L
ton (long ton). How many British tons are in 7 American fons? “ 4 fitish tons Muttiply. [Lesson 5-8]
Scive. 9. 001 645 (LOGAG 10. 895 x 0001 0B95 1. 283 07 27451
2.1 L1 7r_3 .
N-%we=3 Zarg=ly Rgieg Wosrdey 12,038 x 0.08 (L0304 4a 127 xo8s 10,795 14.2axte 414
L. 2 24 1
g= 1R x= 3 f=_ 3% s= 24 15,043 x 0.7 _{LAH 16 841 x 003 02723 17.348x12 _ 41,76
16. Write and solve an agquation to find the number uf furlongs in 12 rods, Convert. fLesson 4-2}

2a. 3.82mb - _(LOO3RZ L
23 s4m=_ 9400 mm

26, 2.0 km = 298,000 o

35.%1;:% aaic+-l;=-z- agsif-s4  smpeolmzt
q= 1% k= % g= 7 = Siﬁ
spst-l  a0lp=zt Movel=s  aiefaal
p= 7’-\% n= 10% V= 2 = 1_LIB

8B Use wilh page 4,
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